B AUSX2A2IY ANBRE [HX R2SSAHA] <HE 2017. 1. 6> 5H5-2-00008-0000-4318
A s X H & H
: b I VI ZASAN H2DSEA AES2S 5H5
(RIFEXS) ( A3JFLIO} ) (RI==219) (ASE)
2 Xt o MOOGAJ}L| Ot 2¢& 24 Xt 6 g 4 sS4
3 = Al MBI-140.4-S 7 s & S4ziE
4 THCH- Xl & A COYABOHE 8 2 = W]
5 S FAMG™ |2 + 0 = 2 9 g ¢ DHAR
10 s (ke 24,540 ( 0) Al DC13115
{
11 SICHETNZ (kg) 0( 0) - £ D& (ps/rpm) 410 /1,900
17|
12 NBESE (kg) 24,670 ( 0) . JIE4 / EHIDI12(cc) 6 /12,742
TR 2 0l 11,880 ( 0) AE AR =i
13| M ol 2,490 ( 0) 2 | o= == | =8 | AR | 2=
m
e & 0 3,930 ( 0)| 18 B+T oiH|(km/2) 3.5
_— 2 0 0 ( 0) g | 181 F=#H2I(km)
VES H ol 0( 0)| 19 = 2t A 2l(mm) 6,450
14| <.
Xl & 2.070
(mm) = 0 0( 0)] 20 £ 2t A 2l(mm)
= 1,850
- SES 7,250 ( 0)| 21 St S A E(mm) 0
DRA 5= 0 ( 0) =2 p =
S 2 22 oPS)
15 |OHSEX eSS 8,645 ( 0) =a 4 /2
K _ =
R R e 0 0) = 315/80R22.5(S)
— 23 EFOIOI & A
S= 8,645 ( 0) £} 12R22.5(D)
PSES 7,385 ( 0) PSE 8,000
A - b
HTHA i 0( 0) S =5 g
16 |SI&8E SES 8,640 ( 0)| 27 ol &8ss PSES 10,500
(Ka) _ (Ka) _
Y1 s [ == 0( 0) . 2 |==2 0
&= 8,645 ( 0) 2= 10,500
24 sl x4 25 S (1~8K2) YS2P6X40
o B AL 26 [=[=TT )= 2018
o | ERTHRI0I: 7923MM~13374MM

1. SHHUSXIS, SHHEAEE RINZ0| A= 200 SR ELIC
2. SBUSKY L HLLNGISEE2 IIM6HAI OLLIBLICH

8. Agoimol =01 &Jlol USRS 2 REJ|@ = "8Ar'S "ASHE))| NS, "2 NS (ps/rpm)"'2 "HEFM S| E DE/3|®4(N/rpm)" S,
IIS+/EHIIR (c0)'S "NEREX FHT/BR(V/AN)'S Lot "SR AH|S(kn/2)'S SIS AH|S(kn/D)'S SEILICH

- A X Il | A", "ZINES (ps/ipm)' 2 "PETSI| FDE/S| T L(W/rpm)"E,
IS+/BHDIE (ce)' 2 "R ER| A DB (M) S UBIL, TH2AHB(n/E) S "ol S AH S (kn/ke)' S ZrEILICT,

NSRS SRt "SI 0GH0I 2RI S(LHSI2+EIN) Y ISR B2, "ARAHIS(M/1)'S SHARNDE(CORE)MAS o= QrEHLICH
1SSHFAIRIY B2, ABARL) FSRIFEI|"Q ISRO0IHL "Z2 1015101 2R S(LHIIBH+RD)) ISR Z0jH J|TELICH
UST ASLA(MANIETE, BETE, BE2E S)2 JIMBLICH

Ol2dRsiel 22 AFESSE 0IFL XS MBI MAISHs H0seEs202 JIMELITH

SHEIIE R RSARIERIZS0| HE BEFH GBAHISO 2D "SS2S"0 JITHEHLICH

© o N O




i

i

i
-
&

\Va

1210

minﬁ;;

9867

13850

b
+

12707

MBI 140-1,4/S E& H&E" A&

TEHHHHS 14.0m

sds 2 ¢
HSAl UIotS

300kg

ERd= 1.4m

g &

23,500kg

AYots

5 = 2.70m

g & 20

12.00m

= 0i s
28 50|

2.90m

A& U

2.55m

ottt 20

Y 20|

9.30m

A& = 0l

4.00m

£ 3 & zlio= 600kg




